
attaches to speakerstand/wallmount with pipeø35mm
 with suitable screw connections for VXT 4/6/8
 easy handling
 

Mounting Adaptor for VXT 4/6/8

SAFETY INSTRUCTIONS 

MANUAL  

Use only with KRK VXT 4/6/8.  

ATTENTION: VXT4 weighs 6.2kg, VXT6 weighs 10.9kg, VXT8 weighs 15.6kg.
                      

 

Check speaker threads to ensure attachment screws are not cross-threaded.  
For indoor use only.  

Inspect bolted assemblies regularly.  
Only for use with proper stand/wallmount (35mm pipe with correct load capacity) and correct installation (level floor surfaces, proper wall mounting, etc.)

 

1. Select suitable screw connection.
  -VXT8: 4x M8x20 screws
  -VXT6: 4x M6x16 screws
  -VXT4: 2x M6x16 screws

2. Attach plate to VXT-hole-pattern and fix it with a suitable screw. 
    
    

3. Loosen lock-screw (a) until thread 
    is out of inner tube.

4. Place the VXT with the attached 
    mount onto an appropriate wall or 
    floor stand. 
    Please see: Safety Instructions.

5. Tighten lock-screw (a) again.

6. VXT - new adjustment: 
    - Loosen lock-screw 
    - Turn VXT in desired direction 
    - Tighten lock-screw

CONTROL, MAINTENANCE, CLEANING SPECIFICATIONS
- Inspect bolted assemblies regularly.
- For cleaning it is recommended to use a slightly damp cloth and a non-abrasive cleaner.

(D) DEBUGGING : (C) CLEARANCE
D: Tube doesn´t apply to stand/wallmount (too big/small).        

  C: Check stand/wallmount: a 35mm pole is necessary.

D: Speaker is not secure on the mount. 
C: Check screws. They should be the correct size and adequately tightened.

  C: Check speaker threads to make sure the screw is not cross-threaded or stripped.

Tubes, plate  -  steel, black-powdercoated
Screws          -  steel, zincMaterial

Load VXT 4/6/8 

 Dimensions W x D x H: 150 x 150 x 104 mm  
Pipe: Inner circle ~ 36mm 

Weight 0,9 kg

KRK-Systems, 9340 DeSoto Ave. Chatsworth CA 91311
http://www.krksys.com

  Ensure that adequate wall support (joists, wall anchors, etc.) or floor stand capacity 
exists to support the weight of these speakers. For use only by trained installers.

   Do not overtighten or crossthread the screw, as this could result in 
   a loose attachment of the speaker to the stand. 
    
    



aufsteckbar auf Boxenstative/Wandhalterungen mit Rohrø35mm
 mit passenden Schraubensätzen für die Modelle VXT 4/6/8
 einfache Handhabung
 

Boxenflansch für VXT 4/6/8

SICHERHEITSHINWEISE 

AUFBAUANLEITUNG  

Ausschließlich zur Aufnahme der Modelle VXT 4/6/8.

BEACHTE: VXT4/6/8 wiegen 6,2/10,9/15,6 kg; beim Aufsetzen auf das Stativ bzw. die  
                     

 

Gewinde der Lautsprecher prüfen.  
Vor Nässe schützen.  

Prüfen Sie in regelmäßigen Abständen die Festigkeit der Installation.
Geeignetes Stativ/Wandhalterung verwenden (Rohrø 35mm, ausreichende Tragkraft) und ordnungsgemäß aufstellen (ebener Untergrund, tragfähige Wand etc.).

 

1. Passenden Schraubensatz zurechtlegen.
  -VXT8: 4x M8x20
  -VXT6: 4x M6x16
  -VXT4: 2x M6x16

2. Platte auf das Lochbild der VXT legen und Schrauben
    mit entsprechendem Schlüssel eindrehen.

3. Durch Losdrehen der Klemmschraube 
    (a) sicherstellen, dass das Gewinde 
    nicht ins Innere des Rohres ragt.

4. VXT mit Rohrstutzen voran 
    auf das Stativ bzw. die 
    Wandhalterung setzen; siehe 
    SICHERHEITSHINWEISE.

5. Klemmschraube (a) wieder festdrehen.

6. VXT neu ausrichten: Klemmschraube lösen, 
    VXT in gewünschte Richtung drehen, 
    Klemmschraube wieder festdrehen.

PRÜFEN, INSTANDHALTEN, REINIGEN TECHNISCHE DATEN
- Regelmäßig Festigkeit der Schraubverbindungen überprüfen.
- Reinigen mit einem leicht feuchten Tuch und nicht scheuerndem Reinigungsmittel.

(F) FEHLERSUCHE : (B) BESEITIGUNG
F: Rohrstutzen passt nicht auf Stativ (zu groß/zu klein)    

  B: Stativrohr prüfen: ø35mm erforderlich

F: Lautsprecher wackelt auf dem Boxenflansch
B: Halbrundkopfschrauben prüfen/nachziehen

  B: Gewindebohrungen im Lautsprecher prüfen

Rohre, Boxenplatte - Stahl, schwarz gepulvert
Schrauben -  Stahl, verzinktMaterial

Traglast VXT4 (6,2 kg), VXT6 (10,9 kg), VXT8 (15,6kg)

Abmessungen B x T x H: 150 x 150 x 104 mm,  
Rohrstutzen: Innenø36mm, 

Eigengewicht 0,9 kg

KRK-Systems, 9340 DeSoto Ave. Chatsworth CA 91311
http://www.krksys.com

LITK00043 3/17/2009

Wandhalterung empfiehlt es sich mit zwei geeigneten Personen arbeiten.


	English
	German

